"DI0 7VRI0T YR DR nInan noon

WA AT TIHY 1y 0BT

29.1.8; 9b (580w ppp) 2> 10b (51p)

I

IT

www.dafvomivicc.org 8

o, a7 DYRD DT DIPR YY MR 937 102 S¥) oD 372 103 S D 900nD IR IR YY 12 YY TR 19w 10 1050 1)) .

0,70 727 VTR T2 NI M7 KD YR UKD 1YY 22 MY NI 1193 NPT 1931 520 o1 NYom DRI Ry Yo NN num .
7,40 mow 109 172V PXIND R DR PITR YT ANTHD OR IR NPT OR 190 098D DR PITR W) .

75,7 8777:021AN TIO? YR 7AW ANT Y2 NRY 17PN NN N3P YY 1021 IR NRVYDD DTN 105D NRYY.

2% 87712 T 07 NWR RN 2P MNITRD 1ORM 950 NR 1157 2pN D92 PR DYIIM 2R

7,4 4777 TYIN HDR NG YR 220 NAMN YY DTN DR 3PN DTN DR DINHN IR 22 12777 N 2197 370 12 DR VNYY .
2,1 8777 DYRI) IRYND RIN DYTR YIH YWRND ANR NN) DRYN PAN NORD Ny .

P, DURD DT Y NI 1937103 O MDD IT 102 Y1 I’ TNV IR PIN DY 1090 11’ 192 YY YR 19WD .

7,0 4777:7230 N2Y T290 NIATAD KY 0PN NN §9) RPN NMND DR 217377 .
w, 7 a1 TVORRYD 1090 92 5 PYN 10WN 351 1050 NRY
0,7 4771 199 DHYS YV 1IYRA 1AWN 17 7 VIRRWD 192 Y TUR 19UN 0 TN TPIXR NX 109D Y39)

1,7 N7 TVIROPA 1157 92 Y¥ 157 P 10w o
o, 78PN ’JD'? onya 17;\?' I'I"?N?;ﬁ;’?_i 193 '7)_? 1\!)?( ]YJ\Z)U 0 DMmm W;XNJ ipEn] nmm .

W %™ N A W NN

T NI

Analysis of the invalidity of using the left hand for n¥mp

Source (&7r 7): v. 1 — q3 (without R/L indicator) means “R” — per vv. 2-5

Note: we don’t apply 01 IR VY1 PR here, as there are four mentions of YrnWY

Challenge: why not let vv. 2-5 set model - that every 93 is L?

Answer: four mentions delimit that this is the only place where L is called for (a la Tnx2 n'xan o7amnd 2w)
Question (7707 77): why the mention of R (vv. 6-7) if the default is R?

Answer: one allows for 1712 (side of finger) the other to disqualify inside of finger (jnais on nail-side)
Question: why nwRn 07 % and DWRN 0T WMPN HY (Vv. 6-7)?

Justification: 07 5y would indicate that it must be there; m1pn 5y may indicate that n7itself is a nxxn —5"np
~27 the multiple mentions of pn> (vv. 6-7) set up v for:

¥ 7. v. 1 — must be with right hand ii ~ Aw5m v. 8 — must be on right foot
m¥7. v. 9 —must be in right ear

iv  Question: what is purpose of m9rnw (v. 3)?
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Answer: to disqualify R, which we would have thought would be valid via v'p (R always preferred)
(a) And:9mnwinv.5 as well as Pn’in v. 7 — per 7210 — repetition only for wTNMWY 727

9"2v1 (quoted by n”a17): wherever it states n1n3 and yaxR — must be R-only

assumption: require both 113 & yaxr (v. 10) & we infer from ymx¥n (v. 3 where jn2 and yaxR are there, explicit nnn’)
challenge: n¥mp only states 103 (no axr); yet our mwn rules that it is invalid

rather (X27): require either YasR or 102
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challenge (»aX): taking ©»1aR to ramp (v. 11), states Jn3, yet he brings them with left hand
answer: 102 or YaxR are enough for those mmay that are indispensible for n12> following lead of y71¢n
(a) challenge: n%ap is indispensible for n193, only says 1712 and w”1 permits (in X:2 0nar) if done with S 1RnNwY
(b) answer: v™ requires both 113 and yasy
(i) challenge: v™ himself states that “1” and "yaxr” always mean “R”
(ii) answer: v™ holds that "jn>” requires "1/pasR”, but *1/yaxr” doesn’t require “jn2”
1. question: then (to w™), why write jn2 at all?
2. answer: that they must be 11231 (i.e. N2 *M11)
(iii) challenge: w™ doesn’t dispute that 7”191, which only states 1n3, requires pn’ (he doesn’t dispute &:1 nrnar)
(iv) answer: he does disagree (8n’12)
(c) challenge: Ra7's observation that Ry 91,7 from y1en (all R) are used for wn to nYy»x7 ,n%oN ,nvnp
(i) answer: one is needed to teach that n¥»np is with R; other for ymp v11p (in N »3) done with R
(d) question: according to w™, who (perhaps) doesn’t require ymip v11p at all (1:3 mmn) — why the need for 7::7?
(i) and even: for those 811X who maintain that he does require it — he validates if done with L (7::7?)
(if) and: cannot be for the nxnp itself (since he rejects 130y "7, as we’ve seen), since he learns that from v. 5:
1. 797 7293 7777 “7. "IN is compared to nkon and to DwK:
a. if: he chooses to do it without a *3, uses R like nxvn
b. and if: he chooses to do it with '93, uses L like nwr
2. answer: needed for nxmp of RVIN NMIN
a. since: v explains that a Romn nmin doesn’t have oil or frankincense, so that it shouldn’t be
“beautiful”, he may hold that pn’a n¥np is valid
b.  therefore: 1::7 extends requirement of pn’a ¥ np to RVIN NN as well.
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